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Solve the following word problems.

Santa delivers 8 baseball bats in his first hour on Christmas Eve. He
delivers 3 more bats in his second hour. How many bats does Santa
deliver all together in those 2 hours?

There are 5 kids at a Christmas party. Each kid has eaten 2 Christmas
cookies. How many cookies have the kids eaten in all?

Jimmy eats 3 slices of pumpkin pie. His friend Eddie comes over and eats
4 slices of pie. How many slices of pie do the boys eat in all?

Tanya drinks 5 cups of eggnog. Stacy drinks half a dozen cups. Which girl
drinks fewer cups of eggnog?

Gwen leaves for a Christmas party at 4:00 p.m. and arrives back home at
8:00 p.m. How long was Gwen at the party?
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